MKIII Controller Mounting Hardware
Before 4/1/96

©

Rear Upright Tube Asbly..
(Shown for Mounting Ref.)
Use Bottom 2 Holes for
Mounting on Standard Chairs

Controller Mounting
Bracket

See MKIIl Contoller Mounting Hardware
Combinations page.



MKIII Controller Mounting Hardware

Before 4/1/96
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 AE 1029175-NLA | NLA - Controller Adjustment Bracket Assembly, 1 1
Black
1 AF 1029174-NLA | NLA - Controller Adjustment Bracket Assembly, 1 1
Black
2 1029232-NLA | NLA - Screw, Socket Button Head (5/16-24 x 1") 1 2
3 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 2
4 1029168-NLA | NLA - Plate, Clamp 1 1
5 B |50000X403-NLA | NLA - Clamp, Black Plastic 1 2
6 G 1034031-NLA | NLA - Plate, Control Adjustment (14"-16" Bracket) 1 2
6 F 1034032-NLA | NLA - Plate, Control Adjustment (17"-24" Bracket) 1 2
7 1031095 Screws with Washers (#10-16 x 7/8") 4 4
8 1007406-NLA | NLA - Keepers 1 2
9 1003177-NLA | NLA - Rivet 1 4
10 7930330-NLA | NLA - Locknut (5/16-24) 25 2
11 1028023-NLA | NLA - Bracket, Main Control, Black 1 1
12 1013149-NLA | NLA - Label, Caution 1 1
13 C See Page See Footnote 1 1
14 1012814-NLA | NLA - Cover, Controller 1 1
15 1026552-NLA | NLA - Cover, Key Pad 1 1
16 1023102-NLA | NLA - Key Pad 1 1
17 50000X025-NLA | NLA - Clip, Lock Over Latch 1 2
18 1009083-NLA | NLA - Screw, Flat Head (#6-32 x 3/8") 1 4
19 1029228-NLA | NLA - Fastener, Hook Self Adhesive (2" W x 1 2
2-15/16" L)
20 1029231-NLA | NLA - Decal, Micro Hook-Up 1 1
21 1029230-NLA | NLA - Hook Material (9-15/16" x 5/8") 1 1
D 1046117-NLA | NLA - Printer and Interface 1 1
D 1026572-NLA | NLA - Paper, Printer 1 1
D 1027280-NLA | NLA - Harness, Printer Wiring 1 1
NOTE: A - Also used to mount Ranger X controllers
B - Clamp color alternated between black and white
C - See page titled "MKIII Controller Mounting Hardware Combinations".
D - Not Shown
E - 14" or 16" Widths

F - 17" thru 22" Wide Chairs
G - 14" thru 16" Wide




